
Flanged Rollers 02
Scrapers 03

Carrier Rollers 04
Shaker Rollers 05

Chain Idlers 06
Sprockets 08
Standoffs 10
Bearings 12
Bushings 12



AgParts exists to deliver 
innovation to the agricultural 

industry with speed and accuracy  
and ensure farmers get the  

best value available.



We’re Working to Make Harvest 

Roll  
Along 
Smoothly

In 1982, I was working at Double L Manufac-

turing in American Falls, Idaho. My great 

boss was Lynn Johnson. I had an idea that 

we, or someone else, should be manufacturing 

a four-inch ball bearing roller with a rubber tire. 

Fafnir was selling a five-inch ball bearing roller 

for $10.48 retail, but they were the only serious 

manufacturer. 

I made some sketches, got some prices on 

tooling and bearings and took the idea to Lynn. 

After my two-minute presentation he leaned 

back in his chair and said, “I like big stuff, not 

little stuff.” That night at home I was complain-

ing to my wife, MarDean, about Lynn rejecting 

my “hundred dollar” idea. MarDean said, “Why 

don’t we build it ourselves?” AgParts was born!

Since then we have made and sold over 

2,000,000 rollers and they are in use worldwide. 

Our goal then and now is to make our custom-

ers more profitable. I really mean that. We keep 

our prices as low as we can. We do our level 

best to find the right balance of wages for our 

employees versus cost to our customers. Our 

employees work hard to see that our customers 

receive the best products and service possible. 

Rollers and sprockets are essential in your op-

erations but we don’t want them to ever be a 

hassle or cost you an arm or a leg.

Please tell us when we fail to measure up 

or when you have a problem involving our prod-

ucts. We will do our best to make it right.

From the bottom of my heart, thanks for 

your orders.

Max H. Ririe
President



PAG E

02

1.800.733.5355

B

C

D A

3-1/2” WORKING FACE3-1/2” WORKING FACE 4” WORKING FACE

PART NO.          DIMENSIONS (in)

A B C D

250 	 Flanged* 3.5 5 2.1 5/8

251 	 Flanged* 3.5 5 2.1 1/2

252 	 Flat* 3.5 - 2.1 5/8

253 	 Flat* 3.5 - 2.1 1/2

254 	 Flanged* 3.5 8 2.1 5/8

255 	 Flanged* 3.5 8 2.1 1/2

256 	 Narrow* 3.5 5 1.2 5/8

257 	 Narrow* 3.5 5 1.2 1/2

927R 	Narrow 3.5 5 1.4 1/2

*For replaceable bearing styles, add RB 
to part number when ordering (Example: 
250RB). Replace bearing(s) with 828 or 837 
bearing replacement.

PART NO. DIMENSIONS (in)

A B C D

1401 Flat 4 - 2.1 1/2

1403 Flat 4 - 2.1 3/4

1405 Flat 4 - 2.1 5/8

1461 Flanged 4 6 2.1 1/2

1463 Flanged 4 6 2.1 3/4

1465 Flanged 4 6 2.1 5/8

1481 Flanged 4 8 2.1 1/2

1483 Flanged 4 8 2.1 3/4

1485 Flanged 4 8 2.1 5/8

992 Flat 4.4 - 2.1 5/8

990 Flanged 4.4 6.4 2.1 5/8

USE FOR:
CARRYING AND GUIDING CHAIN AND CONVEYORS.

FLANGED ROLLERS

R
O

L
L

E
R

S

PART NO.        DIMENSIONS (in)

A B C D

1301 Flat 3.5 - 2.1 1/2

1303 Flat 3.5 - 2.1 3/4

1305 Flat 3.5 - 2.1 5/8

1351 Flanged 3.5 5 2.1 1/2

1353 Flanged 3.5 5 2.1 3/4

1355 Flanged 3.5 5 2.1 5/8

1361 Flanged 3.5 6 2.1 1/2

1363 Flanged 3.5 6 2.1 3/4

1365 Flanged 3.5 6 2.1 5/8

1381 Flanged 3.5 8 2.1 1/2

1383 Flanged 3.5 8 2.1 3/4

1385 Flanged 3.5 8 2.1 5/8



PAG E

03

AGPARTSMFG.COM

R
O

L
L

E
R

S

5” WORKING FACE 6” WORKING FACE

PART NO.    DIMENSIONS (in)

A B C D

1501 Flat 5 - 2.1 1/2

1503 Flat 5 - 2.1 3/4

1505 Flat 5 - 2.1 5/8

1581 Flanged 5 8 2.1 1/2

1583 Flanged 5 8 2.1 3/4

1585 Flanged 5 8 2.1 5/8

PART NO.      DIMENSIONS (in)

A B C D

1601 Flat 6 - 2.1 1/2

1603 Flat 6 - 2.1 3/4

1605 Flat 6 - 2.1 5/8

1681 Flanged 6 8 2.1 1/2

1683 Flanged 6 8 2.1 3/4

1685 Flanged 6 8 2.1 5/8

USE FOR:
ROLLER–CARRYING AND GUIDING CHAIN AND CONVEYORS; SCRAPER–REMOVING MUD AND DEBRIS FROM 
ROLLER FACE.

FLANGED ROLLERS

SCRAPERS

PART NO.         DIMENSIONS (in)

258 	 Scraper Fits 250 series

258M 	Scraper Fits 1300 series

1006 	Scraper Fits 1400 series

495 	 Scraper Bar Fits 258/258M

684 	 Scraper Bar Fits 1006

678 	 Scraper Blade Fits 258/258M/1006



PAG E

04

1.800.733.5355

CARRIER ROLLERS

4” ROLLER

USE FOR:
CARRY CHAINS, BELTS, AND CONVEYORS IN AGRICULTURAL AND INDUSTRIAL APPLICATIONS; CASTERS, GUIDE 
ROLLERS, AND GUIDE WHEELS FOR LAWNMOWER DECKS.

5” ROLLER 6” ROLLER

R
O

L
L

E
R

S

PART NO.       DIMENSIONS (in)

A B C

812R Rubber 4 1 1/2

813R Rubber 4 1 5/8

740U Urethane* 4 1 1/2

741U Urethane** 4 1 5/8

PART NO.           DIMENSIONS (in)

A B C

820R Rubber 5 1 1/2

821R Rubber 5 1 5/8

742U Urethane* 5 1 1/2

743U Urethane** 5 1 5/8

PART NO.         DIMENSIONS (in)

A B C

934R Rubber 6 1 1/2

935R Rubber 6 1 5/8

  *1/2” ID uses #113 replaceable bearing and #462 snap ring
**5/8” ID uses #118 replaceable bearing and #462 snap ring

A

B

C



PAG E

05

AGPARTSMFG.COM

R
O

L
L

E
R

S

SHAKER ROLLERS

USE FOR:
REMOVING SOIL FROM THE CONVEYOR, SMALL CASTERS, AND CARRIER ROLLERS.

SHAKER ROLLER 3-POINT SHAKER FLORY SWEEPERS

PART NO.          DIMENSIONS (in)

A B C

321S Shaker* 2-1/2 1-1/4  5/8

328S Shaker** 2-1/2 1-1/4  5/8

320   Shaker* 2-3/4 1-1/4  1/2

321   Shaker* 2-3/4 1-1/4  5/8

327   Shaker** 2-3/4 1-1/4  1/2

328   Shaker** 2-3/4 1-1/4  5/8

*Single Bearing
**Double Bearing

PART NO.                DIMENSIONS (in)

A B C D

550 3-Point Shaker 7 3-1/2 1-1/4 5/8

551 3-Point Shaker 7 3-1/2 1-1/4 1/2

PART NO.                DIMENSIONS (in)

Bore

367 Single Flory Sweeper 3/4

377 Double Flory Sweeper 3/4

A

B

C A

C

D B



PAG E

06

1.800.733.5355

OUR IDLERS 
ARE REAL WORKHORSES.
Use AgParts chain idlers on slower speed chain drives (up to 500 feet per minute) and on belt 
drives at higher speeds (up to 2,000 FPM). All AgParts chain idlers are made of heat-treated 
12-gauge steel. They’ll keep up with toughest working machine in your operation.

OVERVIEW: IDLERS

ID
L

E
R

S



PAG E

07

AGPARTSMFG.COM

CHAIN IDLERS

#50-#60 CHAIN IDLER #80-#100 CHAIN IDLER IDLERS/TENSIONERS

PART NO.             DIMENSIONS (in)

A B C D

880 Idler 2-3/4 3-1/2 1-1/2 1/2

881 Idler 2-3/4 3-1/2 1-1/2 5/8

PART NO.           DIMENSIONS (in)

A B C D

924 Idler 2-3/4 3-1/2 2 1/2

925 Idler 2-3/4 3-1/2 2 5/8

PART NO.           DIMENSIONS (in)

A B C D

931 No  
Flange 2-3/4 2-3/4 1-1/2 5/8

896W No 
Flange 3-1/2 3-1/2 3-1/4 5/8

930 Single 
Flange* 2-3/4 3-1/2 1-1/2 1/2

920 Single 
Flange** 2-3/4 3-1/2 2 1/2

921 Single 
Flange** 2-3/4 3-1/2 2 5/8

922 Single 
Flange*** 2-3/4 3-1/2 2-1/2 1/2

*Single Bearing, **Double Bearing, 
***Triple Bearing

USE FOR:
TENSION AND GUIDE ROLLER CHAIN; TENSION AND GUIDE V AND FRACTIONAL HORSEPOWER BELTS;
CASTERS AND GUIDE ROLLERS TO KEEP CHAINS AND BELTS ALIGNED AND TENSIONED.

B

C

D A

C

D AB

C

D A B

ID
L

E
R

S



PAG E

08

1.800.733.5355

S
P

R
O

C
K

E
T

S

OVERVIEW:  
SPROCKETS

METAL IS THE SECRET
TO OUR SPROCKETS.
Where appropriate, we use sintered steel for our sprockets. Sintering is a mass production tech-
nique for producing high precision, low cost metal components. Sintered steel has a high percent-
age of machined steel’s strength plus excellent wear characteristics at a low per part price. We 
stand by our sprockets, and all of our other products, with a full one-year warranty.



PAG E

09

AGPARTSMFG.COM

SPROCKETS

50 CHAIN SPROCKET 60 CHAIN SPROCKET 80 CHAIN SPROCKET

SPROCKET IDLER

PART NO.             DIMENSIONS (in)

A B C

706 50 17 1/2

707 50 17 5/8

PART NO.             DIMENSIONS (in)

A B C

708 60 15 1/2

709 60 15 5/8

710 Double Sprocket 60 15 5/8

PART NO.             DIMENSIONS (in)

A B C

704 80 12 5/8

705 80 12 3/4

719 Double Bearing 80 12 3/4

PART NO.             DIMENSIONS (in)

A B

720 662-8T Flush

720T 662-8T 1" Width

USE FOR:
TENSION AND GUIDE ROLLER CHAIN; GENERAL PURPOSE FOR AGRICULTURAL AND INDUSTRIAL 
APPLICATIONS.

C

B  NO. OF
TEETH
  -A CHAIN

SIZE
 -

C

B  -A   - NO. OF
TEETH

CHAIN
SIZE

S
P

R
O

C
K

E
T

S



PAG E

10

1.800.733.5355

S
T
A

N
D

O
F

F
S

OVERVIEW:  
STANDOFFS

TOP-QUALITY STANDOFFS,
HANDS DOWN.
Standoffs are also known as “nubbins,” “spacers,” “bushings,” or “spindles.” AgParts standoffs 
have a large flared base and are made from sintered steel to reduce the cost. Though standoffs 
aren’t expensive, it pays to give them serious thought. They can be the difference between digging 
out your crop and repairing equipment.



PAG E

11

AGPARTSMFG.COM

S
T
A

N
D

O
F

F
S

STANDOFFS

1/2” BORE 5/8” BORE 3/4” BORE

PART NO.             DIMENSIONS (in)

A B C D

604 0.515 1/2 1-3/4 1-3/4

605 0.515 3/4 1-3/4 1-3/4

875 1/2 1-1/8 7/8 1-1/2

822 1/2 1-7/8 7/8 1-1/2

823 1/2 2-3/4 7/8 1-3/4

PART NO.           DIMENSIONS (in)

A B C D

616 0.671 1/2 1-1/2 1-1/2

616A 0.671 3/4 1-1/2 1-1/2

632 0.671 1-1/4 1-3/8 1-3/8

750 5/8 1-1/4 0.94 1-1/2

752 5/8 1-1/2 0.94 1-1/2

783 5/8 1-3/4 0.94 1-1/2

758 5/8 2 1-1/2 2-1/2

784 5/8 2.19 0.94 1-1/2

759 5/8 2-1/2 1-1/2 2-1/2

825 5/8 2-3/4 1 1-3/4

760 5/8 2-3/4 1-1/2 2-1/2

817 5/8 3 1 1-3/4

761 5/8 3 1-1/2 2-1/2

816 5/8 3-1/4 1 1-3/4

410 5/8 3-5/8 1 1-3/4

187 5/8 4 1.15 1-3/4

PART NO.           DIMENSIONS (in)

A B C D

754 3/4 2 1-1/2 2-1/2

755 3/4 2-1/2 1-1/2 2-1/2

756 3/4 2-3/4 1-1/2 2-1/2

757 3/4 3 1-1/2 2-1/2

USE FOR:
SPACERS IN LIGHT, MEDIUM, AND HEAVY-DUTY APPLICATIONS.

D CA

B



PAG E

12

1.800.733.5355

B
E

A
R

IN
G

S
/B

U
S

H
IN

G
S

/
W

A
S

H
E

R
S

OVERVIEW:  
BEARINGS/BUSHINGS/

WASHERS

IT PAYS TO NOT
OVERLOOK THE DETAILS.
It’s the small things, like a little rain, that make a big difference in agriculture. The same goes for 
parts. Bearings, bushings, scrapers and even washers may be small pieces of the overall machine. 
But when they’re long lasting, it means you can do your vital work more efficiently. And that makes 
a big difference when there are only so many hours in the day to get it done. 



PAG E

13

AGPARTSMFG.COM

BEARINGS/BUSHINGS/
WASHERS

BUSHINGS WASHERSBEARINGS

PART NO.             DIMENSIONS (in)

A B C

806 Bushing 0.72 5/8 1/2

803 Bushing 1 5/8 1/2

805 Bushing 1.25 5/8 1/2

807 Bushing 1.63 5/8 1/2

PART NO.             DIMENSIONS (in)

A B C

612 Washer 1/4 1-1/2 5/8

639 Washer 1/4 1-3/8 1/2

PART NO.             DIMENSIONS (in)

A

113 Bearing 203-KRR5-R3 0.5

114 Bearing 203 JD 0.6693

115 Bearing 203-KRR7 0.6693

118 Bearing 203-KRR2-R3 0.625

119 Bearing 6005-2RS 0.9843

787 Bearing 6203-2RST 0.6693

808 Bearing 6204-2RS 0.7874

794 Bearing 6205-2RST 0.9843

791 Bearing 6305-2RS 0.9843

828 Replacement 
Bearing

250 Series 0.625

837 Replacement 
Bearing

256RB/257RB 0.625

462 Snap Ring - -

A B

A

C B

A

C

USE FOR:
BUSHINGS—REDUCING 5/8” HOLES TO 1⁄2”; CAN BE STACKED IN HOLE TO ACCOMMODATE DIFFERENT APPLICATIONS; 
BEARINGS—ENDLESS AGRICULTURAL AND INDUSTRIAL APPLICATIONS; WASHERS—SPACING OBJECTS APART. 

B
E

A
R

IN
G

S
/B

U
S

H
IN

G
S

/
W

A
S

H
E

R
S



PAG E

14

1.800.733.5355

NOSE ROLLERS
STEEL ROLLERS

AgParts 209 and 211 steel roll-
ers are durable, low cost alter-
native nose rollers. The flange 
and hub are made from dura-
ble, heat-treated steel. Triple 
sealed bearings on both sides 
provide extra protection.

AgParts’ heat-treated steel nose 
rollers are for down in-the-dirt 
use with belted or hook chain. 
The quad seals on each side of 
the roller ensure superior bear-
ing protection.

USE FOR:
SEVERE CONDITIONS IN TURNAROUND AND HEAVY DUTY CARRIER AREAS; ALSO AS CASTERS AND
IN HEAVY DUTY INDUSTRIAL APPLICATIONS.

NOSE ROLLERS STEEL ROLLERS

PART NO.              DIMENSIONS (in)

A B C

814  Steel  5/8 4    1.1

814L Steel  3/4 4    1.1

PART NO.                DIMENSIONS (in)

A B C D

209 Steel 2-1/2 4    2    5/8

211 Steel 2-1/2 5    2    5/8

B

C

D A

N
O

S
E

 R
O

L
L

E
R

S
S

T
E

E
L

 R
O

L
L

E
R

S

C

AB



IN
D

E
X

DESCRIPTION PART # PAGE # #/BOX

Bearing 203 JD 114 13 Bulk
Bearing 203-KRR7 115 13 Bulk
Bearing 203-KRR2-R3 118 13 Bulk
Bearing 203-KRR5-R3 113 13 Bulk
Bearing 6005-2RS 119 13 Bulk
Bearing 6203-2RST 787 13 Bulk
Bearing 6204-2RS 808 13 Bulk
Bearing 6205-2RST 794 13 Bulk
Bearing 6305-2RS 791 13 Bulk
Bearing Assembly Double Flory Sweeper 3/4 ID 377 13 20
Bearing Assembly Single Flory Sweeper 3/4 ID 367 13 50
Bearing Replacement (for 250 Series) 828 13 10
Bearing Replacement (for 256RB/257RB) 837 13 10
Bushing 1/2 X 5/8 X 0.72 806 13 Bulk
Bushing 1/2 X 5/8 X 1.00 803 13 Bulk
Bushing 1/2 X 5/8 X 1.25 805 13 Bulk
Bushing 1/2 X 5/8 X 1.63 807 13 Bulk
Idler 2-3/4 X 1/2 X 1-1/2 No Flange 931 7 50
Idler 3-1/2 X 5/8 X 3-1/4 No Flange 896W 7 9
Idler 3-1/2 X 1/2 X 1-1/2 880 7 50
Idler 3-1/2 X 5/8 X 1-1/2 881 7 50
Idler 3-1/2 X 1/2 X 2 924 7 40
Idler 3-1/2 X 5/8 X 2 925 7 40
Idler 3-1/2 X 1/2 X 1-1/2 Single Flange, Single Bearing 930 7 50
Idler 3-1/2 X 1/2 X 2 	 Single Flange, Double Bearing 920 7 24
Idler 3-1/2 X 5/8 X 2 	 Single Flange, Double Bearing 921 7 24
Idler 3-1/2 X 1/2 X 2-1/2 Single Flange, Triple Bearing 922 7 18
Roller 4 X 1/2 X 1 812R 4 50
Roller 4 X 5/8 X 1 813R 4 50
Roller 5 X 1/2 X 1 820R 4 40
Roller 5 X 5/8 X 1 821R 4 40
Roller 6 X 1/2 X 1 934R 4 20
Roller 6 X 5/8 X 1 935R 4 20
Roller 4 X 1/2 X 1 Urethane Replaceable Bearing 740U 4 50
Roller 4 X 5/8 X 1 Urethane Replaceable Bearing 741U 4 50
Roller 5 X 1/2 X 1 Urethane Replaceable Bearing 742U 4 40
Roller 5 X 5/8 X 1 Urethane Replaceable Bearing 743U 4 40
Roller Flat 3.5 X 1/2 X 2.1 253 2 18
Roller Flat 3.5 X 1/2 X 2.1 Replaceable Bearing 253RB 2 18
Roller Flat 3.5 X 5/8 X 2.1 252 2 18
Roller Flat 3.5 X 5/8 X 2.1 Replaceable Bearing 252RB 2 18
Roller Flat 3.5 X 1/2 X 2.1 1301 2 18
Roller Flat 3.5 X 5/8 X 2.1 1305 2 18
Roller Flat 3.5 X 3/4 X 2.1 1303 2 18
Roller Flat 4 X 1/2 X 2.1 1401 2 10
Roller Flat 4 X 5/8 X 2.1 1405 2 10
Roller Flat 4 X 3/4 X 2.1 1403 2 10
Roller Flat 4.4 X 5/8 X 2.1 992 2 16
Roller Flat 5 X 1/2 X 2.1 1501 3 8
Roller Flat 5 X 5/8 X 2.1 1505 3 8
Roller Flat 5 X 3/4 X 2.1 1503 3 8
Roller Flat 6 X 1/2 X 2.1 1601 3 8
Roller Flat 6 X 5/8 X 2.1 1605 3 8
Roller Flat 6 X 3/4 X 2.1 1603 3 8
Roller 5” Flange NF 3.5 X 1/2 X 1.2 257 2 15
Roller 5” Flange NF 3.5 X 1/2 X 1.2 Replaceable Bearing 257RB 2 15
Roller 5” Flange NF 3.5 X 5/8 X 1.2 256 2 15
Roller 5” Flange NF 3.5 X 5/8 X 1.2 Replaceable Bearing 256RB 2 15
Roller 5” Flange NF 3.5 X 1/2 X 1.4 927R 2 30
Roller 5” Flange 3.5 X 1/2 X 2.1 251 2 10
Roller 5” Flange 3.5 X 1/2 X 2.1 Replaceable Bearing 251RB 2 10
Roller 5” Flange 3.5 X 5/8 X 2.1 250 2 10
Roller 5” Flange 3.5 X 5/8 X 2.1 Replaceable Bearing 250RB 2 10
Roller 5” Flange 3.5 X 1/2 X 2.1 1351 2 10
Roller 5” Flange 3.5 X 5/8 X 2.1 1355 2 10
Roller 5” Flange 3.5 X 3/4 X 2.1 1353 2 10
Roller 6” Flange 3.5 X 1/2 X 2.1 1361 2 8
Roller 6” Flange 3.5 X 5/8 X 2.1 1365 2 8
Roller 6” Flange 3.5 X 3/4 X 2.1 1363 2 8
Roller 6” Flange 4 X 1/2 X 2.1 1461 2 8
Roller 6” Flange 4 X 5/8 X 2.1 1465 2 8
Roller 6” Flange 4 X 3/4 X 2.1 1463 2 8

DESCRIPTION PART # PAGE # #/BOX

Roller 6.4” Flange 4.4 X 5/8 X 2.1 990 2 10
Roller 8” Flange 3.5 X 1/2 X 2.1 255 2 10
Roller 8” Flange 3.5 X 1/2 X 2.1 Replaceable Bearing 255RB 2 10
Roller 8” Flange 3.5 X 5/8 X 2.1 254 2 10
Roller 8” Flange 3.5 X 5/8 X 2.1 Replaceable Bearing 254RB 2 10
Roller 8” Flange 3.5 X 1/2 X 2.1 1381 2 10
Roller 8” Flange 3.5 X 5/8 X 2.1 1385 2 10
Roller 8” Flange 3.5 X 3/4 X 2.1 1383 2 10
Roller 8” Flange 4 X 1/2 X 2.1 1481 2 10
Roller 8” Flange 4 X 5/8 X 2.1 1485 2 10
Roller 8” Flange 4 X 3/4 X 2.1 1483 2 10
Roller 8” Flange 5 X 1/2 X 2.1 1581 3 6
Roller 8” Flange 5 X 5/8 X 2.1 1585 3 6
Roller 8” Flange 5 X 3/4 X 2.1 1583 3 6
Roller 8” Flange 6 X 1/2 X 2.1 1681 3 6
Roller 8” Flange 6 X 5/8 X 2.1 1685 3 6
Roller 8” Flange 6 X 3/4 X 2.1 1683 3 6
Roller Shaker 2-1/2 X 5/8 X 1-1/4 321S 5 50
Roller Shaker 2-1/2 X 5/8 X 1-1/4 Double Bearing 328S 5 50
Roller Shaker 2-3/4 X 1/2 X 1-1/4 320 5 50
Roller Shaker 2-3/4 X 1/2 X 1-1/4 Double Bearing 327 5 50
Roller Shaker 2-3/4 X 5/8 X 1-1/4 321 5 50
Roller Shaker 2-3/4 X 5/8 X 1-1/4 Double Bearing 328 5 50
Roller Shaker 3 Point 1/2” Bore 551 5 10
Roller Shaker 3 Point 5/8” Bore 550 5 10
Roller Steel 4 X 5/8 X 1.1 814 14 15
Roller Steel 4 X 3/4 X 1.1 814L 14 15
Roller Steel 4” Flange 2-1/2 X 5/8 X 2 209 14 10
Roller Steel 5” Flange 2-1/2 X 5/8 X 2 211 14 10
Scraper Assembly 250 Series 258 3 20
Scraper Assembly 1300 Series 258M 3 20
Scraper Assembly 1400 Series 1006 3 20
Scraper Bar (for 258) 495 3 Bulk
Scraper Blade (for 258/258M/1006) 678 3 Bulk
Snap Ring 462 13 Bulk
Spacer .671 x 1-3/8 x 1-1/4 632 11 Bulk
Spacer .671 x 1.5 x .5 616 11 Bulk
Spacer .671 x 1.5 x .75 616A 11 Bulk
Spacer 1.75 X .5 604 11 Bulk
Spacer 1.75 X .75 605 11 Bulk
Sprocket Idler 50-17-1/2 706 9 40
Sprocket Idler 50-17-5/8 707 9 40
Sprocket Idler 60-15-1/2 708 9 40
Sprocket Idler 60-15-5/8 709 9 40
Sprocket Idler 60-15-5/8 Double Sprocket 710 9 20
Sprocket Idler 80-12-5/8 704 9 30
Sprocket Idler 80-12-3/4 705 9 30
Sprocket Idler 80-12-3/4 Double Bearing 719 9 20
Sprocket Idler 662-8T 720 9 10
Sprocket Idler 662-8T (1" Width) 720T 9 10
Standoff 1/2 X 1-1/8 875 11 Bulk
Standoff 1/2 X 1-7/8 822 11 Bulk
Standoff 1/2 X 2-3/4 823 11 Bulk
Standoff 5/8 X 1-1/4 750 11 Bulk
Standoff 5/8 X 1-1/2 752 11 Bulk
Standoff 5/8 X 1-3/4 783 11 Bulk
Standoff 5/8 X 2 758 11 Bulk
Standoff 5/8 X 2-3/16 784 11 Bulk
Standoff 5/8 X 2-1/2 759 11 Bulk
Standoff 5/8 X 2-3/4 825 11 Bulk
Standoff 5/8 X 2-3/4 HD 760 11 Bulk
Standoff 5/8 X 3 817 11 Bulk
Standoff 5/8 X 3 HD 761 11 Bulk
Standoff 5/8 X 3-1/4 816 11 Bulk
Standoff 5/8 X 3-5/8 410 11 Bulk
Standoff 5/8 X 4 187 11 50
Standoff 3/4 X 2 754 11 Bulk
Standoff 3/4 X 2-1/2 755 11 Bulk
Standoff 3/4 X 2-3/4 756 11 Bulk
Standoff 3/4 X 3 757 11 Bulk
Washer 1/4 X 1-5/8 X 1/2 639 13 Bulk
Washer 1/4 X 1-1/2 X 5/8 612 13 Bulk

Alphabetical Parts List15
PAGE



PAG E

16

1.800.733.5355

O
R

D
E

R
IN

G
/ 

W
A

R
R

A
N

T
Y

Ordering

Phone, fax, or email your order to us using the appropriate 
contact information below. 

Orders received by 11 am will 
be shipped the same day.

Call Toll-Free (US and Canadian callers): 1.800.733.5355

Call Locally (within southern Idaho): 208.357.3608

Fax Orders: 208.357.3731

Email Orders: orders@agpartsmfg.com

Written Orders: AgParts Manufacturing, 
		  485 North State Street
		  Shelley, Idaho 83274

Online: www.agpartsmfg.com

SPEEDY SHIPPING

Orders received by 11 a.m. MST will be shipped the same 
day via UPS Ground unless you specify another carrier.  
We ship most orders within 24 hours.  When specifying 
“UPS Collect” please include your UPS account number.  If 
your order weighs 400 lbs. or more (roughly 10 full boxes of 
rollers), you can reduce freight expenses by shipping via a 
common carrier.  Freight charges are prepaid and added to 
the invoice unless you specify freight charges are collect.  
Pallet rates are available to select areas.  We receive dis-
counted rates with some carriers.  Following is a partial list 
of freight lines or common carriers operating out of Idaho 
Falls:  Con-way, Estes, UPS Freight.

Same-day or overnight service to customers in southern 
Idaho is available at a reasonable rate through in-state 
lines such as:  Go-Fer It Express, Teton Delivery.

FIRST-CLASS WARRANTY AND RETURN POLICY

All Agparts products are unconditionally guaranteed for 
one year from the date of purchase. Please call us at 
1.800.733.5355 if any problems arise, and we’ll arrange for 
replacement, credit or return shipment as required. Your 
satisfaction is extremely important to us.

Great Quality, 
Great Service, and a 
Great Warranty

That’s Why Agparts Rollers 
are the Best in the Industry



PAG E

17

AGPARTSMFG.COM

O
R

D
E

R
IN

G
/ 

W
A

R
R

A
N

T
Y

ORDERING

SALES ORDER FORM
AgParts Manufacturing
485 N. State Street
Shelley, ID 83274

Toll Free: 800-733-5355
Direct: 208-357-3608
Fax: 208-357-3731
www.agpartsmfg.com
email: orders@agpartsmfg.com

Billing Information

Contact

Company

Address

City

State, Zip

Phone

E-mail

Purchase Order Number

Shipping Information (complete if different than billing)

Contact

Company

Address

City

State, Zip

Phone

Email

Quantity Part Number Description

Shipping Information

(Default is UPS Ground unless otherwise specified or 
over 400 lbs.) Most orders are shipped within 24 hours.

Requested Shipping Method

Special Shipping Requirements

Required Delivery Date

Comments:

Credit Card Information

Credit Card Number

Name

Exp. Date

X Signature

Warranty & Returns:
All AgParts products are unconditionally guaranteed for one year from date of purchase. Please call us (1 800-733-5355) if any problems
arise and we will arrange for replacement, credit or return shipment as required.



From the days he personally delivered rollers and 
sprockets, AgParts founder Max H. Ririe established 
a pattern of meeting the needs of his customers.  He 

formed a reputation of service that became a cornerstone of 
AgParts’ business philosophy.

Today, after serving farmers and growers for over three de-
cades, AgParts has developed a dealer/distributor network 
who share AgParts’ commitment to service in understand-
ing grower needs. The close relationship developed with 
our customers allows AgParts to tailor both products and 
services to satisfy individual customer requirements. This 
combined AgParts network offers a wide range of products 
and services to both small and large growers alike.

AgParts exists to deliver innovation  
to the agricultural industry with speed and 
accuracy and ensure farmers get the best 

value available.

485 North State Street 
Shelley, Idaho 83274

1.800.733.5355
www.agpartsmfg.com

DISTRIBUTED BY:

AgParts Delivers Innovation


